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oURE 34,0002 x22 100 6,800
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CEEEI=E 6,764
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02 Zz=gul 57,000 57,000 0
oOxY L SINRY 57,000
Oxt &I OH 18,000
Oxg 2 s 5,000
OREHZ 34,000
202 OFl 9,072 20,098 A1,026
01 =UiofH| 19,072 20,098 A1,026
OB T AET 19,072
207 SATIHLYI 99,715 18,652 18,987
03 Aoyl 99,715 118,652 A18,987
OB Z XA A (350a) 10,880
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SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
01 =LAl 3,104 3,092 12
OYLF U 2ENY =& 3,104
207 AN 16,909 26,513 29,604
03 AlE& 2| 16,909 26,513 A9,604
(OFSE=L R, 9,305
Osgas)I8txd 4,210
OJlsd LTS M A 2,591
O&t A At 803
301 ptEas 4,262 3,422 840
09 BU2RRIABLS 4,262 3,422 840
o== 1,200
O Al 1,320
O =H| 792
oIl =4l 350
OJIEIZHI(4HEE S) 600
AN BE 2 44,148 111,881 AB7,733
Atz X 2tel 44,148 40,486 3,662
201 ZEH2EH| 44,148 40,486 3,662
02 =294l 44,148 40,486 3,662
CHAN2E(BER= 8) 44,148
HY2HZH (SMSASE)(JIEH/IIE 883,760 790,733 93,027
QIR 2 854,938 768,210 86,728
S2& olAdl N& 832,114 746,934 85,180
101 Q24| 774,954 696,074 78,880
01 Jl==2 509, 160 441,806 67,354
o== 479,593
OHZEH 124,800
-45 5,200,000 x2Z 123 124,800
Ooget(ls)a 330,914
-6 2,363,000 x5 123 141,780
7= 1,949,700 x3H x 12 70,190
-8=2 1,749,000 x5 123 104,940
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DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
-10=2 1,167,000& *1E «12& 14,004
O F& 23,879
- A 1,989,900 x1H = 12& 23,879
OF U=, 29,567
(OFSF=r =y 354,793,000& x1/12 29,567
=g 105,886
oNn=sg 14,880
OB 2t 40,0003 x16H +12& 7,680
ORLIt=E 20,000& *30Y +12& 7,200
ostH| X< 10,676
O=srH 51,400 *3H 43| 617
OnSstH 419,090 x6H 43| 10,059
(OFSFmt = P =) 15,360
O254E 0] &t 130,000& x1H = 12& 1,560
0O20~25= 0| &t 110,000 x4 x12& 5,280
O15~20= 0] 2+ 80,000 x6H x12& 5,760
O10~15= 0] &t 60,000& x3H x12& 2,160
O5~104 0| Bt 50,000& *1H *12& 600
O N 1,800
ogxX 30,000& x5H x12& 1,800
O k= e 2,400
023 40,000& x5H x12& 2,400
oH=Rs=Rd=Y 143,555,000 *4.8% 6,891
oot AL GG 10,000& *1H¥ +12& 120
OExgRxg 6,240
OJdlsge+g 4,800
-4= 50,0003 x2H = 12& 1,200
-6~72 30,000& *10Y +12& 3,600
OggR=g 80,0003 x1H = 12& 960
OodgRsY 40,0003 x1H 12 480
OAZI2A22Y 7,3253x16H x25A| 2+ x 122 35,160
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0l &4 08
OxgIR=HY 56,1753 x2F 110 12,359
03 ZFAHZAH 26,520 24,960 1,560
OZ U= AHI 130,000 *17H * 123 26,520
04 wnE2 =Ml 24,120 22,560 1,560
oge(Jls)= 22,560
o6~78 130,000 8+ 12& 12,480
O8=-10=2 120,000& *7E = 12& 10,080
(O EnES] 1,560
OH A 130,000& 1H = 12& 1,560
05 HWEFOHI 35,480 35,403 77
OZE S| 354,793,000 1/ 12%120% 35,480
06 JFAHIXI&HI 59,133 59,005 128
O It AHIXI & 8l 354,793,000 *1/12%200% 59,133
07 HII2 4| 14,655 12,153 2,502
O] 124,800,000 *1/12%1/30% 11 3,814
O==H 354,793,000 *1/12%1/30% 11 10,841
203 YRF&Y| 7,840 7,840 0
01 J|I22HHRFEI 3,000 3,000 0
OFSFSs 3,000
02 FRIIetHRFEY| 640 640 0
OFSECW = 40,0003 169 640
04 REN2ITRFLEH 4,200 4,200 0
©3021 0l ot 350,000& 12 4,200
204 MDAy 49,320 43,020 6,300
01 HMSHASAHAH 4,800 4,800 0
OFSFS; 400,000& x1H ~ 122 4,800
02 =22l 34,920 28,020 6,900
O4= 400,000& »2F «12& 9,600
Ob6= 155,000& 6 H *12& 11,160
Q7= 140,000 *4H 122 6,720
0892 105,000& 5«12 6,300
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0102 95,0002 * 1% +122 1,140
03 SHYRLHBSH| 9,600 10,200 600
oue eS| 50,0002 16 * 122 9,600
SN2 QBTN 22| 22,824 21,276 1,548
101 eIty 22,824 21,276 1,548
09 SOHA2EZXZS 22,824 21,276 1,548
ORBYMH 22,824
oz2o 38,5002 %1% %2552 9,818
S 9,664,000% 12 4/ 12 3,222
OF54+g 38,5002 +12§+522 2,002
ORI EI4 T 38,5002 %1% %162 616
SNEEEEES
7,219 %1% %20A] 24+ 122 1,733
SE LY 38,5002 * 12 +402 *150% 2,310
OB EE Ity 300, 00024 *1% +23] 600
SN 50,0002 %124+ 122 600
SEF-CI==IELEY 1,723
Om = 100,0008 1% +23] 200
Jl= 2| 28,822 22,523 6,299
Y L=BIEET 28,822 22,523 6,299
201 L2yl 14,242 10,843 3,399
01 ARl 13,378 10,288 3,090
ORM2Y AR 3,378
;2 T2 864 555 309
ORNSY BBR3 864
202 oft 7,680 7,680 0
01 =UHoIH 7,680 7,680 0
ORM2Y 20| 7,680
405 XarE S 6,900 4,000 2,900
01 HUUSEFHEH] 6,900 4,000 2,900
©2IXH(187H) 2,700
OMHI (113H) 2,200
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